


























































RQ15-001 

NISSAN 

6/5/2015 

ATTACHMENT G 

REQUEST 10 
RESPONSE_REDACTED 



PART NUMBERS BY MODEL AND MY

JX35/QX60
MY 15

Production Part #
        SEN ASSY‐OCCUPANT DETECTION 98850 3JA0A 98850 3JA1A 98850 3JR0A 98850 9NA0A 98850 9NC0A 98850 9ND0A
        SEN‐OCCUPANT 98853 3JA0A
        HARN‐OCCUPANT SEN 98854 3JA0A 98854 9ND0A
       CONT ASSY‐OCCUPANT SEN 98856 3JG0A 98856 3JG1A 98856 3JG1B 98856 3JR0A 98856 9NA0A 98856 9NC0A 98856 9ND0A
Service Part #
       SEAT FRAME 87302 3JA7A
       SEN‐OCCUPANT 98853 3JA0A
      HARN‐OCCUPANT SEN 98854 3JA0A 98854 9ND0A
      CONT ASSY‐OCCUPANT SEN 98856 3JG0A 98856 3JG1A 98856 3JG1B 98856 3JR0A 98856 9NA0A 98856 9NC0A 98856 9ND0A

ALTIMA
MY

Production Part #
        SEN ASSY‐OCCUPANT DETECTION 98850 3TA0A 98850 3TY0A 98850 9HN0A 98850 9HP0A 98850 9HP0B
        SEN‐OCCUPANT 98853 3JA0A
        HARN‐OCCUPANT SEN 98854 3TA0A 98854 9HN0A 98854 3KG7A 98854 9PD0A
       CONT ASSY‐OCCUPANT SEN 98856 3TM0A 98856 3TY0A 98856 9HN0A
Service Part #
       SEAT FRAME 87301 3TA1A 87301 9HP1A   87301 9HP1A   87301 9HP4A  
       SEN‐OCCUPANT 98853 3JA0A
        HARN‐OCCUPANT SEN 98854 3TA0A 98854 9HN0A 98854 3KG7A 98854 9PD0A
      CONT ASSY‐OCCUPANT SEN 98856 3TM0A 98856 3TY0A 98856 9HN0A 98856 9HN0A

SENTRA
MY 13

Production Part #
        SEN ASSY‐OCCUPANT DETECTION 98850 3SG0A 98850 9AM0A 98850 9AM1A
        SEN‐OCCUPANT 98853 3JA0A
        HARN‐OCCUPANT SEN 98854 3SG0A 98854 9AM1A
       CONT ASSY‐OCCUPANT SEN 98856 3SG0A 98856 9AM0A 98856 9AM1A

        SEN&DIAG ASSY‐OCCUPANT DETECT  98852 3JA0A 98852 9NA0A
Service Part #
       SEN‐OCCUPANT 98853 3JA0A

13 14

13 /14 15

14

G.1



PART NUMBERS BY MODEL AND MY
PATHFINDER

MY 15MY 15MY
Production Part # POWER
        SEN ASSY‐OCCUPANT DETECTION 98850 3KA3A 98850 3KA4A 98850 9PA5A  98850 9PC5A  98850 9PD5A 98850 3KG7A 98850 3KG8A 98850 9PA0A 98850 9PC0A 98850 9PD0A
        SEN‐OCCUPANT 98853 3JA0A
        HARN‐OCCUPANT SEN 98854 3TA0A 98854 9HN0A 98854 3KG7A 98854 9PD0A
       CONT ASSY‐OCCUPANT SEN 98856 3KA1A 98856 3KA2A 98856 9PA0A 98856 9PC0A  98856 9PD0A  98856 3KA1A 98856 3KA2A  98856 9PA0A 98856 9PC0A 98856 9PD0A
Service Part #
       SEAT FRAME 87301 3KA3A   87301 3KE7A  
       SEN‐OCCUPANT 98853 3JA0A   98853 3JA0A  
        HARN‐OCCUPANT SEN 98854 3TA0A 98854 9HN0A 98854 3KG7A 98854 9PD0A
       CONT ASSY‐OCCUPANT SEN 98856 3KA1A 98856 3KA2A 98856 9PA0A 98856 9PC0A  98856 9PD0A  98856 3KA1A 98856 3KA2A  98856 9PA0A 98856 9PC0A 98856 9PD0A

LEAF
MY 14

Production Part #
        SEN ASSY‐OCCUPANT DETECTION 98850 3JA0A 98850 3NF0A 98850 9RA0A 98850 9RC0A
        SEN‐OCCUPANT 98853 3JA0A
        HARN‐OCCUPANT SEN 98854 3NF0A 98854 9RC0A
       CONT ASSY‐OCCUPANT SEN 98856 3JA0A 98856 3JA1A 98856 3NF0A 98856 3NF0B 98856 9RA0A 98856 9RC0A

        SEN&DIAG ASSY‐OCCUPANT DETECT  98852 3JA0A
Service Part #
       SEN‐OCCUPANT 98853 3JA0A
       M10 NUT FLANGE HEXAGON 23391 3NF0A
       M8 NUT FLANGE HEXAGON 23188 3NF0A

NV200/TAXI
MY

Production Part #
        SEN ASSY‐OCCUPANT DETECTION 98850 3LM0A 98850 9SD0A
        SEN‐OCCUPANT 98853 3JA0A
        HARN‐OCCUPANT SEN
       CONT ASSY‐OCCUPANT SEN 98856 3JA0A 98856 3JA1A 98856 3LM1A 98856 3LN0A 98856 9SD0A

        SEN&DIAG ASSY‐OCCUPANT DETECT  98852 3JA0A 98852 9NA0A
Service Part #
       M10 NUT FLANGE HEXAGON 23391 3NF0A
       M8 NUT FLANGE HEXAGON 23188 3NF0A
       SEN‐OCCUPANT 98853 3JA0A

13MY 14MY 13MY 14MY
MANUAL MANUAL POWER POWER

98856 9SA0A

13

Part of Seat Assy Part of Seat Assy

13

14

98850 9SA0A

G.2



SUPPLIER CONTACT INFORMATION

Sue Groot
Director, Development Engineering
----------------------------------------------------------------
Calsonic Kansei North America, INC.
27000 Hills Tech Court
Farmington Hills, Michigan 48331
Tel:  (248) 848-4821
Mobile:  (248) 804-1510
email:  Sue_Groot@ck‐mail.com

G.4


	NISSAN 6-5-2015, ATTACHMENT G, REQUEST 10 RESPONSE_REDACTED.pdf
	RQ15-001 REQUEST 10 RESPONSE_REDACTEDA
	RQ15-001 REQUEST 10 RESPONSE_REDACTEDAAAA


